Приложение 1.

Работа в парах. Заполнение таблицы:

1. х4 - 6х2 + 8 = 0 (павлин)             - 2; -[image: image1.png]


2; [image: image2.png]


2; 2
2. х3 + 2х2 – 3х = 0 (пеликан)         - 1; 0; 3

3. х5 + х3 – 6х = 0 (сова)                  -[image: image3.png]
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4. х3 - 3х2 – 4х +12 = 0 (аист)        - 2; 2; 3

	Множество решений
	Название птицы
	Является символом ….
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	Сова
	Мудрости

	- 2; 2; 3
	Аист
	Счастья
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2; 2
	Павлин
	Бессмертия

	0; 1; 3
	Лебедь
	Верности

	- 1; 0; 3
	Пеликан
	Жертвенности


Свободную клетку таблицу заполните словом «лебедь».

